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PAPER – III 

MANAGEMENT 

Note : Attempt all the questions. Each question carries two (2) marks.  

SÔ¨¦ : GÀ»õ ÂÚõUPÐUS® Âøh¯ÎUPÄ®. JÆöÁõßÔØS® Cμsk (2) ©v¨ö£sPÒ.  

1. Indicate the correct code matching the items in List – I with those I List – II as 
follows: 
  List – I List – II 
a) Competitive parity in advertising  I)  Variations in advertising 
b) Promotional elasticity of product II) Advertising scheduling 
c) Optimal promotion mix III) Advertising expenditure 
d) Pulsing advertising IV) Marginal equivalence of advertising 

media outlay 
 a b c d 
1) II III I IV 
2) III I IV II 
3) I IV II III  
4) IV II III I 

gl;bay; xd;wpy; cs;stw;iwg; gl;bay; ,uz;Lld; nghUj;jp mtw;Wf;fhd rhpahd 
FwpaPl;ilf;Fwpg;gpLf 

 gl;bay; I  gl;bay; II 
a) tpsk;gug;gLj;Jjypy; cs;s Nghl;b I)  tspk;gug;gLj;jypy; cs;s NtWghLfs;  

b) nghUspd; mjpfhpg;G nefpo;jd;ik II) tpsk;guj; jpl;l epuy; 
c) gad; epiwT Nkk;ghLf; $l;L III) tpsk;gur; nrytpdk; 

d) ehbj;Jbg;G tpsk;guq;fs; IV) tpsk;gu Clf tiuaiktpy; 
tpspk;Gepiy rkd;ik 

 a b c d 
1) II III I IV 
2) III I IV II 
3) I IV II III 
4) IV II III I 

2. For a production firm, the pecuniary economies arise from which one of the following 
sources? 
1) Large scale production 
2) Purchasing and market economies 
3) Indivisibility of factor inputs 
4) Learning economies of workers and managers 

xU cw;gj;jp epWtdj;jpy;> fPo;fz;l ve;j %ytsj;jpypUe;J ngf;A+dhp nghUspay; 
cUthFk; 

1) nghpa msT jahhpg;G 
2) thq;Fjy; kw;Wk; mq;fhbg;gLj;jy; nghUshjhuk; 
3) Mf;ff; $Wfs; cs;sPLfspd; gFj;jwpatpayhj; jd;ik 
4) Copah;fs;> Nkyhsh;fisf; fw;wy; nghUspay; 
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3. The leadership model that integrates the expectancy model of motivation with the 
Ohio State leadership research is 

1) Fiedler's 

2) leader-member exchange 

3)  autocratic-democratic 

4) path-goal 

jiyik khly;> ce;Jjypd; vjph;ghh;g;G khlYld; ,ize;j x`Nah khepy 

jiyik Ma;T vdpy; 

1) gPl;yh;’]; 

2) jiyth; - cWg;gpdh; ghpth;j;jid 

3) jd;dpr;irahd – kf;fshl;rp Kiwahd 

4) ghij - ,yf;F 

4. Match the following 

 List – I  List-II 

a) Grapevine  I  Tool of control 

b) Unity of  Direction II  Scientific management 

c) Time and motion study III Form of communication 

d) Budget  IV Management principle 

Codes : 

 a b c d 

1) IV III II I 

2) III IV I II 

3) III IV II I 

4) II III IV I  

fPo;f;fz;ltw;iwg; nghUj;Jf 

 gl;bay; I  gl;bay; II 

a) fpNug; itd; I  fl;Lg;ghl;Lf;fUtp 

b) jpirnahUikg;ghL II  mwptpay;G+h;t eph;thfk; 

c) Neuk; kw;Wk; ,af;f Ma;T III jfty; njhlh;gpay; tbtk; 

d) tuT nryTj; jpl;lk; IV Nkyhz;ikapay; fUj;jhf;fk; 

FwpapLfs; 

 a b c d 

1) IV III II I 

2) III IV I II 

3) III IV II I 

4) II III IV I 
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5. Rearrange the steps of Maslow's Need Hierarchy Theory. 
a) Self - Actualization Needs 

b) Physiological needs 

c) Belongingness and love needs  

d) Self - esteem needs 

e) Safety needs 

Codes :  

1) a d c b e 

2) a b c d e 

3) d c b e a 

4) a d c e b 

kh];Nyhtpd; Njit gbepiyf; nfhs;ifapd; gbfis kWxOq;F nra;f 

a) Ra epiwTj; Njitfs; 

b) clypay;rhh; Njitfs; 

c) clik kw;Wk; fhjYf;fhd Njitfs; 

d) Ra kjpg;G Njitfs; 

e) ghJfhg;Gj; Njitfs; 

FwpaPLfs;  

1) a d c b e 

2) a b c d e 

3) d c b e a 

4) a d c e b 

6. Which one of the following is a training technique in which trainees act out parts in a 

realistic management situation ? 

1) Action learning 2) Role playing 

3) Behaviour modeling  4) Case study 

fPo;f;fz;ltw;Ws; ve;j xU gapw;rp cj;jpapy; gapw;rpahsh;fs; nka;ahd Nkyhz;ik 

R+oypy; gq;Nfw;W ebf;fpd;wdh;? 

1) nray;ghl;Lf; fw;wy; 2) gq;Fepiy tpisahl;L 

3) elj;ij khlypy; 4) jdpegh; Ma;T 
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7. You are given a job to make a decision on project X, which is composed of three 
projects A, B, and C which have NPVs of +50, -20 and +100, respectively. How would 
you go about making the decision about whether to accept or reject the project? 
1) Accept the firm's joint project as it has a positive NPV 
2) Reject the joint project 
3)  Break up the project into its components and accept C only 
4) Accept only A 

cq;fSf;F xU gzp jug;gl;Ls;sJ.  Ma;Tj;jpl;lk; vd;gJ gw;wpa KbT vLf;f 
Ntz;ba gzp mJ.  Ma;Tj;jpl;lk;   A B C vDk; %d;W Ma;Tj; jpl;lq;fSk; 
NPVs + 50 - 20 + 100 Mfpatw;iwf; nfhz;bUg;gdtw;wpd; $l;likjp me;j Ma;Tj; 
jpl;lj;ij Vw;gjh tpyf;Ftjh vd;gJ gw;wpa Kbtpid ePq;fs; vg;gb vLg;gPh;fs;? 
1) epWtdj;jpd; $l;L Ma;Tj;jpl;lj;ij Vw;Wf; nfhs;Sq;fs;.  Vnddpy; mJ 

Neh;epiy NPV nfhz;bUf;fpwJ 
2) $l;L Ma;Tj; jpl;lj;ij epuhfhpAq;fs; 
3) Ma;Tj; jpl;lj;ij mjd; gy;NtW $Wfisg; gFj;jwpe;J C ia kl;Lk; 

Vw;Wf; nfhs;f 
4) A ia kl;Lk; Vw;Wf; nfhs;f 

8. How are earnings per share calculated? 
1) Use the income statement to determine earnings after taxes (net income) and divide 

by the previous period's earnings after taxes. Then subtract 1 from the previously 
calculated value. 

2) Use the income statement to determine earnings after taxes (net income) and divide 
by the number of common shares outstanding. 

3) Use the income statement to determine earnings after taxes (net income) and divide 
by the number of common and preferred shares outstanding.  

4) Use the income statement to determine earnings after taxes (net income) and divide 
by the forecasted period's earnings after taxes. Then subtract 1 from the previously 
calculated value. 

vt;thW xt;nthU gq;fpw;Fk; chp tUkhdk; fzf;fplg;gLfpwJ? 
1) tUtha; mwpf;ifiag; gad;gLj;jp thpfSf;Fg;gpe;ija tUkhdj;ijj; 

jPh;khdpj;J (epfu tUkhdk;) mijr; nrd;w fhyfl;lj;jpa thpfs; 
nrYj;jpajw;Fg; gpe;ija tUkhdj;jpypUe;J tFf;fTk; gpd;dh; fzf;fpl;l 
kjpg;Gld; xd;iwf; fopf;fTk; 

2) tUkhd mwpf;ifiag; gad;gLj;jp thpfl;baJNghf tUkhdj;ijj; jPh;khdpj;J 
(epfu tUkhdk;) mijg; nghJg;gq;Ffspd; vz;zp;fifahy; tFf;fTk; 

3) tUkhd mwpf;ifiag; gad;gLj;jp thpfs; Nghf tUkhdj;ijj; jPh;khdpj;J 
(epfu tUkhdk;) mij nghJthd vz;zpf;if kw;Wk; tpfpjj;jpw;Fhpa 
gq;Ffspd; vz;zpf;ifahy; tFf;fTk;  

4) %yjd tuT nryTj;jpl;lf; fzpg;Gf; Fwpg;gPL kpfTk; ,d;wpaikahjJ 
KjyPl;L gq;fPl;Lr; `oy; ,q;qdk; ,Uf;Fk; NghJ 

9. The capital budgeting appraisal criterion that is most appropriate in the situation of 
capital rationing will be 
1) Payback period 
2) Internal Rate of Return 
3) Net present value 
4) Profitability index 

%yjd tuT nryTj;jpl;lf; fzpg;Gf; Fwpg;gPL kpfTk; ,d;wpaikahjJ KjyPl;L 
gq;fPl;Lr; `oy; ,q;qdk; ,Uf;Fk;NghJ 

1) gzk; jpUg;gpj;jUk; fhy msT 
2) cs; kl;Lg;ngwy; tpfpjk; 
3) ,g;Nghija nkhj;j kjpg;G 
4) ,yhg tptu tpsf;ff; FwpaPl;Lg; gl;bay; 



H  M1603 7

10. The market process involves which functions 
i) Buying  
ii) Storing 
iii) Grading 
iv) Risk hearing 
v) Transporting  
vi) Financing 
1) i, ii, iii, and iv 2) i, iv, v, and vi 
3) i, ii, iii, iv, and v  4) All of the above 

mq;fhb eilKiw ve;j nraypid cs;slf;fpaJ? 

i) thq;Fjy; 
ii) fplq;fpy; Nrkpj;jy; 
iii) thpirj; jukply; 
iv) Mgj;ijr; nrtpkLj;jy; 

v) Nghf;Ftuj;J nra;jy; 

vi) epjpAjty; 

1) i, ii, iii, kw;Wk; iv 2) i, iv, v, kw;Wk; vi 
3) i, ii, iii,  iv, kw;Wk; v  4) Nkw;$wpa midj;Jk;  

11. Assertion (A). Marketing occupies an important position in the organisation. 
Reason (R). Marketing is the function of business concerned with creation of a consumer. 
1) Assertion (A) and Reason (R) both are true 
2) Assertion (A) is true but Reason (R) is not true 
3) Assertion (A) is not true but Reason (R) is true 
4) Assertion (A) and Reason (R) both are untrue 

cWjp thf;fpak; (A)  epWtdj;jpy; mq;fhbg;gLj;jy; kpf Kf;fpa ,lk; tfpf;fpwJ 

fhuzk; (R)      xU Efh;Nthiu cUthf;Ftjpy; tpahghuj;jpy; mq;fhbg;gLj;Jk; 
nray; njhlh;GilaJ 
1) A kw;Wk; R nka; 
2) A nka; Mdhy; R nka;ad;W 
3) A nka;ad;W Mdhy; R nka; 
4) A kw;Wk; R ,uz;Lk; nka;ad;W 

12. Value analysis is normally applied to 
1) New products 2) Old products 
3) Future products 4) Both 1 and 2 

kjpg;Gg; gFg;gha;T nghJthf ,jw;Fg; nghUe;JfpwJ 

1) Gjpa nghUl;fs; 2) goa nghUl;fs; 
3) vjph;fhyg; nghUl;fs; 4) 1 kw;Wk; 2 

13. Which of the following is not an inventory? 
1) Machines  2) Raw material 
3) Finished products  4) Consumable tools 

fPo;f;fz;ltw;Ws; vJ fz;lwpr; Nrhjid md;W? 

1) ,ae;jpuq;fs; 2) %yg;nghUl;fs; 
3) Kbf;fg;gl;l nghUl;fs; 4) Efh;Tf; fUtpfs; 
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14. Which of the following are the components of data warehouses? 

i) Metadata 
ii) Integration Programs 
iii) Summarized data 
iv) Archives 
1) i, ii and iii only 2) i, iii and iv only 
3) ii, iii and iv only  4) i, ii, iii and iv 

juT jsthl ,y;yq;fspd; $Wfshff; fPo;f;fz;l vt;tiff; $Wfs; mikfpd;wd 

i) nkl;lh juT 
ii) xUq;fik GNuhfpuhk;fs; 
iii) njhFf;fg;gl;l juT 
iv) Mtzf;$lq;fs; 
1) i , ii kw;Wk; iii kl;Lk; 2) i, iii kw;Wk; iv kl;Lk; 
3) ii, iii kw;Wk; iv kl;Lk; 4) i, ii, iii  kw;Wk; iv 

15. Match the following: 
 List – A    List – B 

a) Connects a very large number of  i) Topology 
 devices and spans across a dispersed 
 geographical location covering many 
 cities. 
b) Encrypted communication tunnels  ii) Ethernet 
 with access control and user authentication 
c) Physical or geometric arrangement of 
 the network influenced by the 
 physical connections of links and nodes  iii) Wide Area Network 
d) Local area network technology that  iv) Virtual Private Network 
 sends communication  
 a) b) c) d) 
1) iii) i) iv) ii) 
2) iv) iii) i) ii) 
3) iii) iv) ii) i)  
4) iii) iv) i) ii) 

fPo;fz;ltw;iwf; nghUj;Jf: 

 gl;bay; A  gl;bay; B 
 a) gy efuq;;fisf; nfhz;l gue;Jgl;l i) Nlhghy[p 

 epytpay; gug;giy mjpf vz;zpf;ifapyhd   
 fUtpfspd; %yk; ,izj;jy; 
b) Fwpg;gLj;jpa  njhlh;gpay; Ruq;ftop ii) <jh;nel; 
 gaDWjpg;ghL kw;Wk; juT ngWjy; fl;Lg;ghL 
c) jfty;  njhluikg;gpd; xUq;fpizg;G iii) gue;j  js ,izg;G 
 ,izg;gpy; ntspg;gilahd  fzpjf; fzf;fPl;L 
 Kiwapyike;j ,izg;Gg; 
 Gs;spfSk;>  re;jpg;Gf; fZf;fSk; 
d) jftiy mDg;Gk; cs;Sh; iv) th;r;Rty; jdpahh;  ,izg;G 
 js ,izg;Gj; njhopy; El;gk; 
 a b c d 
1) iii) i) iv) ii) 
2) iv) iii) i) ii) 
3) iii) iv) ii) i)  
4) iii) iv) i) ii) 
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16. A key characteristic of strategic decisions is 

1) They are likely to be concerned with, or affect, the long-term direction of an 
organisation 

2) They are normally definite decisions about the future of the organisation 
3) They identify specific areas of strategic interest for the management of an 

organisation 
4) They result in better organisational performance 

nrayhf;f KbTfspd; Kjd;ikf; $W 

1) mit epWtdj;jpd; ePz;l fhy jpirAld; njhlh;Gilajhf> jhf;fj;ijj; 
Njhw;Wtpj;jy; 

2) mit epWtdj;jpd; vjph;fhyk; Fwpj;j cWjpahd KbTfs; 

3) epWtd Nkyhz;ikf;Fhpa Fwpg;gpl;l nray; jpl;l Mh;tehl;lq;fis ,dk; 
fhz;gd 

4) epWtd nray;jd;ikr; rpwg;gpd; tpisthf miktd 

17. Strategic choices require an understanding of: 

1) the underlying bases for future strategy at business unit and corporate levels; the 
options for developing strategy in terms of directions and methods of development 

2) the business environment, the competition and the strategic capability of the 
organisation 

3) The key drivers of change 
4) The organisational strengths and weaknesses 

nray; jpl;l tha;g;Gfs; ,g;Ghpjiy Ntz;Ltd 

1) tzpf myfpd; vjph;fhyr; nray;jpl;l mbj;jsk;> $l;lhz;ik msTfs;> 
Kd;Ndw;wk; nray;jpl;l tpUg;Gfs;> Kd;Ndw;wj; jpirfs; kw;Wk; Kiwfs; 
rhh;gpd 

2) tzpfr; R+o;epiy> Nghl;b> nray;jpl;lj;ij eilKiwg;gLj;jf; $ba epWtdj; 
jpwd; 

3) khw;wj;jpd; Kf;fpa ce;Jjy;fs; 

4) epWtdj;jpd; typikfs; kw;Wk; gytPdq;fs; 

18. Strategic drift, where strategies progressively fail to address the strategic position of 
the organisation, is frequently followed by: 

1) Transformational change 

2) Demise 

3) Transformational change or demise 

4) A change of CEO 

nray;jpl;l Gilngah;T> epWtdj;jpd; nray; epiyia Fwpg;gpLtjw;F Kw;Nghf;Fr; 
nray;jpl;lq;fs; jtWk;NghJ ,jDld; epfo;fpwJ 

1) Kw;wpYkhd khw;wk; 

2) kiwjy; 

3) Kw;wpYkhd khw;wk; (m) kiwjy; 

4) Kjd;ikr; nrayhl;rp mYtyh; khw;wk; 
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19. Match the following 

  Authors  Statement 

a) F.G. Moore  i) Any arrangement of a machine is a layout just as 

your house plan 

b) M.E. Hurley ii) Plant layout involves the development of  Physical 

relationships of building and equipment 

c) R.C. Davis  iii) Plant lay out may be defined as the work of 

Planning and organization, machinery will Make 

possible a satisfactory of degree Manufacturing. 

d) George R. Terry iv) Plant layout is the arrangement of machines work 

areas and service within a factory 

Codes 

 a b c d 

1) i) iii) iv) ii)  

2) iii) iv) ii) i)  

3) i) ii) iii) iv)  

4) i) iv) ii) iii) 

nghUj;Jf 

 E}y; Mrphpah;fs;  thf;fpak; 

a) vg;.[p.%h;  i) cq;fs; tPl;Lf; fl;blj;jpl;lj;ijg; Nghd;wJ. xU 

,ae;jpuj;jpd; mikg;gpw;fhd Ny mTl;  

b) vk;.,.`h;Ny ii) jpl;l Ny mTl; vd;gJ fl;blk; kw;Wk; fUtp 

cwTepiyfspd; Kd;Ndw;wk; 

c) Mh;.rp.Nltp]; iii)  jpl;l Ny mTl;> epWtdj;jpl;lkply;> ,ae;jpuf; 

fl;likg;G epiwtspf;ff; $ba cw;gj;jpiar; 

rhj;jpag;gLj;Jjy; vd;W tiuaWf;fg;glyhk; 

d) [hh;[; Mh;. nlh;hp iv) jpl;l Ny mTl; xU njhopw;rhiyapd; 

,ae;jpuq;fs; gzpj; jsq;fs; kw;Wk; Nritapd; 

xOq;FKiw 

FwpaPLfs; 

 a b c d 

1) i) iii) iv) ii)  

2) iii) iv) ii) i)  

3) i) ii) iii) iv)  

4) i) iv) ii) iii) 
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20. Match the following 

   Authors Books 
a) Everett Hagen i) Principles of management 
b) David C. Mc Clelland ii) Achieving society 
c) Joseph Scheumpeter iii) Theory of economic development 
d) Koontz and O Donnel iv) Theory of social change 
Codes 
 a b c d 
1) i) iii) iv) ii) 
2) iii) iv) ii) i) 
3) iv) ii) iii) i) 
4) i) iv) ii) iii) 

nghUj;Jf 

 E}y; Mrphpah;fs;  E}y;fs; 
a) vtnul; Nffd; i) Nkyhz;ik tpjpKiwfs; 
b) Nltpl; rp.kf;sPy;yz;L ii) r%fj;ij ntd;nwLj;jy; 
c) N[h]g; ];fk;gPl;lh; iii) nghUshjhu Kd;Ndw;wf; nfhs;if 
d) $z;l;]; kw;Wk; X Nlhd;dy; iv) r%f khw;wf; nfhs;if 
FwpaPLfs; 

 a b c d 
1) i) iii) iv) ii) 
2) iii) iv) ii) i) 
3) iv) ii) iii) i) 
4) i) iv) ii) iii) 

21. Match the following 

  Management thought Features 
a) Adaptive  i) Social psychology 
b) Probabilistic ii) Consequent result 
c) Multivariable iii) Controllable 
d) Multi disciplinary iv) Adjust to change 
Codes 
 a b c d 
1) i) iii) iv) ii) 
2) iii) iv) ii) i) 
3) iv) ii) iii) i) 
4) iii) ii) iv) i) 

nghUj;Jf 

 eph;thfr; rpe;jid   $Wfs; 
a) R+o;epiyf;Nfw;g khw;wpf; i)  r%f cstpay; 
 nfhs;Sk; jd;ik 
b) rhj;jpaj;jd;ik ii)  gpd;tpisT 
c) gd;kakhwpfs; iii) fl;Lg;gLj;jty;y 
d) gy; Jiwrhh;e;jJ iv) khw;wj;jpw;Nfw;g jftikT 
FwpaPLfs; 
 a b c d 
1) i) iii) iv) ii) 
2) iii) iv) ii) i) 
3) iv) ii) iii) i) 
4) iii) ii) iv) i) 
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22. The long term self interests of ––––––––– are best served when business assumes 
social responsibilities. 

1) Entrepreneurs 2) Customers 

3)  Business  4) Suppliers 

njhopy; r%fg; nghWg;Gf;fisf; iff;nfhs;Sk;NghJ> ePz;l fhy –––––––––  Ra 

Mh;t ehl;lq;fs; rpwg;ghf epiwNtWk; 

1) Ranjhopy; KidNthh;fs; 2) thbf;ifahsh;fs; 

3) tzpfk;  4) tpepNahf];jh;fs; 

23. Business ethics is primarily concerned with relationship of business goals techniques 

to specifically  ––––––––– ends. 

1) Manager 

2) Human 

3) Capital management and controlling 

4) Value 

tzpf mwnewpapd; Kjd;ik mf;fiw tzpf ,yf;FfSld; njhlh;Gila 

cj;jpfs; Fwpg;ghf ––––––––– KbTfs; 

1) Nkyhsh; 

2) kdpjh; 

3) %yjd eph;thfk; kw;Wk; fl;Lg;gLj;jy; 

4) kjpg;G 

24. The three important components in aligning business strategy with HR practice: 

1) Business strategy, Human resource practices, organisational capabilities 

2) Marketing Strategy, Human resource practices, organisational capabilities 

3) Business strategy, human resource practices, organisational structure  

4) Marketing strategy, Human resource practices, organisational structure 

tzpfr; nray;jpl;lj;ij kdpj cwTg; gapw;rpAld; xUq;fikf;Fk; %d;W Kf;fpa 

$Wfs; 

1) tzpfr; nray;jpl;lk;> kdpj %yts eilKiwfs;> epWtdj;jpwd;fs; 

2) mq;fhbg;gLj;Jk; nray;jpl;lk;> kdpj %ytsr; nray;Kiwfs;> epWtdj; 

jpwd;fs; 

3) tzpfr; nray;jpl;lk;> kdpj %yts eilKiwfs;> epWtd mikg;G 

4) mq;fhbg;gLj;Jk; nray;jpl;lk;> kdpj%yts eilKiwfs;> epWtdf; 

fl;likg;G 
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25. When a prospect has been identified, it is called as ––––––––– and is the 1st stage in 
personal selling process 
1) Lead evaluation 2) Buyer analysis 
3) Order generation 4) Lead generation 

xd;wpd; epfo;tha;g;G fz;Lgpbf;fg;gl;lhy; mJ ––––––––– ,q;qdk; 
miof;fg;gLfpwJ.  mJ jdpegh; tpw;gid eilKiwapy; Kjy; fl;lk; MFk; 

1) Kjy;epiy kjpg;gPL 2) thq;FNthh; gFg;gha;T 
3) thpir cUthf;fk; 4) Kjy;epiy cUthf;fk; 

26. Which of the following products would be most likely to benefit from a multiple-
segment strategy? 
1) office products, such as computer diskettes 
2) staple food products, such as milk 
3) luxury items, such as diamond bracelets  
4) seasonal products, such as sterling resorts 

fPo;f;fz;ltw;Ws; vt;tifg; nghUl;fs;> gd;Kfg; gFg;Gr; nray;jpl;lj;jhy; 
gydiltd? 

1) mYtyfg; nghUl;fs;> fzpdp b];nfl;Lfs; Nghd;wd 
2) ghy; Nghd;w czTg; nghUl;fs; 
3) ituf; ifazp Nghd;w Mlk;gug; nghUl;fs; 
4) ];nlh;ypq; hprhh;l;L Nghd;w gLtQ;rhh; nghUl;fs; 

27. The shrinking of distances due to technological advances such as computer and fax 
connections by telephone, are one characteristic of what new challenge to marketing? 
1) Rapid globalization 
2) The changing world economy 
3) The call for more socially responsible marketing 
4) The micro-chip revolution 

fzpdp njhiyNgrp top njhiyefyp ,izg;Gfs; Nghd;w njhopy;El;g 
Kd;Ndw;wq;fshy; njhiyJ}uq;fs; RUq;FtJ mq;fhbg;gLj;jypy; Vw;gl;;l xU GJ 
neUf;fb MFk;? 

1) tpiuthd cyfkakhjy; 
2) khWk; cyfg; nghUshjhuk; 
3) r%fg; nghWg;Gs;s mq;fhbg;gLj;jYf;fhd miog;G 
4) fzpdpr; rpy;Yg; Gul;rp 

28. Which of the following promotional budget methods wrongly views sales as the cause 
of promotion rather than as the result? 
1) affordable method 
2) percentage-of-sales method 
3) competitive-parity method  
4) objective-and-task method 

tpw;gid  vd;gJ Kd;Ndw;wj;jpd; fhuzk;  vd;W Nehf;fpaNj my;yhJ.  KbT 
vd;W ghprPypf;fhj jtwhd  Nehf;iff;   nfhz;;l Kd;Ndw;w gl;n[l; Kiw vJ? 

1) Vw;fj;jf;f Kiw 
2) tpw;gidapd;  rjtPfpj  Kiw 
3) Nghl;b kw;Wk; rPuikT Kiw 
4) Nehf;F kw;Wk;  nray; Kiw 
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29. Match the following: 

  List – I (Statement)  List – II (Term) 

 a) Independent floating exchange rate i)  Fiat money   

 b) Exchange rate depending entirely on ii)  Clean float 

 market forces 

 c) Floating exchange rate regime where iii) Managed float 

the monetary authorities interfere 

in the foreign exchange market for 

stabilizing exchange rate 

 d) Non convertible paper currency iv)  Free float 

  a b c d 

1) ii) iv) iii) i) 

2) iv) iii) i) ii) 

3) i) iii) iv) ii) 

4) ii) i) iii)  iv) 

nghUj;Jf: 

 gl;bay;  I thf;fpak; gl;bay;  II (nrhy;) 

a) rhh;gw;w  kpjf;Fk; ghpth;j;;jid i)  gpal; gzk; 

 tpfpjk; 

b) ghpth;j;jid tpfpjk;  Kw;wpYkhf ii) f;sPd; kpjit 

 mq;fhb tpirfis rhh;e;Js;sJ 

c)  ghpth;j;jid  tpfpjj;ij  iii) eph;tfpf;fg;gl;l kpjit 

epiyg;gLj;Jtjw;F mjpfhuk;   

gilj;Njhh; md;dpar; nryhtzp  

mq;fhbapy;   jiyapLth;  

vg;Nghnjdpy; kpjit ghpth;j;jid  

tpOf;fhL mzpapd; NghJ  

d) khw;Wjw;fpayhj  Ngg;gh;  fud;rp iv) jilaw;w kpjit 

  a b c d 

1) ii) iv) iii) i) 

2) iv) iii) i) ii) 

3) i) iii) iv) ii) 

4) ii) i) iii)  iv) 
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30. As a part of WTO guidelines, Agreement On Agriculture (AOA) doesn’t consider  
1) Direct payments to farmers are permitted 
2) Indirect assistance and support to farmers including R & D support by govt. are not 

permitted 
3) Domestic policies which directly effect on production and trade have to be cut back 
4) Least developed countries do not need to make any cuts 

WTO topfhl;L newpKiwfspd;  xU gFjpahf  tptrhaj;jpd; kPjhd xg;ge;jk;  
,ijg;  ghprPypf;ftpy;iy 

1) tptrhapfSf;F  Neubahf  epjp toq;FtJ  mDkjpf;fg;gl;Ls;sJ 
2) kiwKf cjtpAk; Cf;fKk;  tptrhapfSf;F Ma;T kw;Wk;  Kd;Ndw;w 

muR toq;Fk;  cjtpAk;  $l mDkjpf;fg;gltpy;iy 
3) cs;Jiw nfhs;iffs; cw;gj;jpapd;  kPJ Neub tpisitj; Njhw;Wtpg;gdTk; 

kw;Wk; th;j;jfk; Mfpad kPz;Lk; ntl;L nra;ag;gl Ntz;Lk; 
4) tsh;r;rp Fd;wpa  ehLfs; vt;tpj ntl;Lf;fisAk;  nra;aj;  Njit ,y;iy 

31. Trade Related Investment Measures (TRIMS) doesn’t apply for       
1) Measures that lead to restrictions in quantities 
2) Discouraging measures that limit a company’s imports 
3) Discouraging measures that limit a company’s exports 
4) Discouraging measures that limit a company’s imports and exports 

th;j;jfk; njhlh;ghd  KjyPl;L mstPLfs;  (TRIMS)  ,tw;Wf;Fk;  nghUe;jhJ 

1) mstPLfs;  vz;zpf;iffspy; jilfis tpjpf;fr; nra;td 
2) xU epWtdj;jpd;  ,wf;Fkjpiaf;  fl;Lg;gLj;Jk;  Cf;Ftpf;fhj mstPLfs; 
3) xU epWtdj;jpd;  Vw;Wkjpiaf;  fl;Lg;gLj;jpf; Vw;Wkjpia Cf;Ftpf;f 

kWf;Fk;  mstPLfs; 
4) xU epWtdj;jpd;  Vw;Wkjpfs; kw;Wk; ,wf;Fkjpfisr;  fl;Lg;gLj;jp Vw;Wkjp 

,wf;Fkjpfis  Cf;Ftpf;fhj  mstPLfs; 

32. Which is the right sequence of stages of Internationalization? 
1) Domestic, Transnational, Global, International, Multinational 
2) Domestic, International, Multinational, Global, Transnational    
3) Domestic, Multinational, International, Transnational, Global                        
4) Domestic, International, Transnational, Multinational, Global  

midj;Jyf  kakhjypd;  rhpahd  gbfspd;  thpir  mikg;G vJ? 
1) cs;ehl;L>  ehLfSf;F ,ilapyhd>  cyf>  midj;Jyf>  gd;dhl;L 
2) cs;ehl;L> midj;Jyf> gd;dhl;L>  cyf>  ehLfSf;F ,ilapyhd  
3) cs;ehl;L>  gd;dhl;L>  midj;Jyf>  ehLfSf;F ,ilapyhd> cyf 
4) cs;ehl;L>  midj;Jyf> ehLfSf;F ,ilapyhd>  gd;dhl;L> cyf 

33. Form of government in which one person or political party exercises absolute control 
over all spheres of human life and opposing political parties are prohibited 
1) Democracy  2) Nationalisation 
3) Totalitarianism  4) Political ideology 

,t;tif  muR mikg;gpy; xU egh; my;yJ xU murpay; fl;L kdpj  tho;tpd;  
midj;Jj; jsq;fspd; kPJk;  KOikahd  fl;Lg;ghL nrYj;JtJk;  
vjph;f;fl;rpfs;  midj;Jk;. jLf;fg;gl;bUg;gJk; 
1) kf;fshl;rp  2) Njrpa kakhjy; 
3) nkhj;jtpak; 4) murpay; fUj;jhf;fk; 
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34. If the spot rate of US dollar is Rs. 60 and one month forward rate is Rs. 62, the 
forward rate premium (p) will be 

1) 40%   2) (–) 40% 

3) 33%     4) (–) 33% 

Av]; lhyhpd; ];ghl; tpfpjk; & 60 xU khjj;Jf;F Ke;ija tpfpjk; &62 mjd; 

Kd;Ndhf;Fg; gphpkpa tpfpjk; (p) vd;gJ 

1) 40%   2) (–) 40% 

3) 33%     4) (–) 33% 

35. Hyperglobalization is a process of globalization which 

1) Emphasizes the rise of regionalism 

2) Emphasizes the decline of transnational companies 

3) Emphasizes the rise of nation states  

4) Emphasizes the rise of the transnational companies and decline of nation states 

i`g;gh; cyfkakhjy; vd;gJ cyfkakhjy;> mJ 

1) gpuhe;jpathj mjpfhpg;ig typAWj;JfpwJ 

2) ehLfSf;fpilapyhd epWtdq;fspd; tPo;r;rpia typAWj;JfpwJ 

3) Njrpa muRfspd; mjpfhpg;ig typAWj;JfpwJ 

4) ehLfSf;F ,ilapyhd epWtdq;fsJ mjpfhpg;Gk;> Njrpa muRfspd; rhpTk; 

36. The cost incurred by the manufacturer beyond use value is called 

1) Cost value   

2) Esteem value 

3) Exchange value   

4) None of the above 

gad; kjpg;Gf;Ff; $Ljyhf cw;gj;jpahsh;fs; vjph;nfhs;Sk; nryT 

1) nryT kjpg;G  

2) Ra kjpg;G 

3) ghpth;j;jid kjpg;G  

4) Nkw;nrhd;d vJTk; md;W 



H  M1603 17

37. The elasticity of demand is greater than unity, when 
1) Percentage change in demand is equal to the percentage change in price. 

2) Percentage change in demand is more than the percentage change in price. 

3)  Percentage change in demand is less than the percentage change in price. 

4) There is change in price. 

fPo;f;fz;l Njit nefpo;Tj;jd;ik gad;ghl;il tpl mjpfk; vg;nghOJ vdpy; 

1) Njitapy; Vw;gLk; khw;wj;jpd; tpOf;fhL> tpiyapy; Vw;gLk; khw;w 

tpOf;fhl;bw;Fr; rkkhf ,Uf;Fk;NghJ 

2) Njitapy; Vw;gLk; khw;w tpOf;fhL> tpiyapy; Vw;gLk; khw;w tpOf;fhl;il 

tpl mjpfkhf ,Uf;fpd;w NghJ 

3) Njitapy; Vw;gLk; khw;w tpOf;fhL> tpiyapy; Vw;gLk; khw;w tpOf;fhl;il 

tplf; Fiwthf ,Uf;fpd;w NghJ 

4) tpiyapy; khw;wk; Vw;gLfpd;w NghJ 

38. GDP includes which of the following measures? 

1) The size of a population that must share a given output within one year. 

2) The negative externalities of the production process of a nation within one year. 

3)  The total monetary value of all final goods and services produced within a nation 

within one year. 

4) The total monetary value of goods and services including barter transactions within a 

 nation in one year. 

GDP fPo;f;fz;l vtw;iwnay;yhk; cs;slf;fpaJ? 

1) xU Mz;bw;Fs; jug;gl;l nghUis jq;fSf;Fs; fl;lhak; gfph;e;J 

nfhs;sf;$ba kf;fs; njhifapd; msT 

2) xuhz;bw;Fs; xU Njrj;jpd; tpisnghUs; eilKiwapy; NeUk; vjph;epiy 

Gwf;$Wfs; 

3) xU ehl;bw;Fs; cUthf;fg;gl;l midj;Jg; nghUl;fs; kw;Wk; Nritfspd; 

nkhj;j gz kjpg;G Xuhz;bw;Fs;shf 

4) xU ehl;bw;Fs; Xuhz;bw;Fs; nkhj;j tpisnghUl;fs; Nritfs; kw;Wk; 

gz;lkhw;wg; ghpth;j;jidfs; Mfpatw;Ws; nkhj;j gz kjpg;G 
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39. A market penetration pricing strategy is suitable when 
1) lower price encourages actual competition. 
2) the demand of the product is inelastic. 
3) the production and distribution costs fall with increasing production.  
4) a high price discourages competitors from entering the market 

mq;fhb Nt&d;wy; tpiy eph;za cj;jp vg;NghJ Vw;GilaJ vd;why;> 

1) Fiwthd tpiy cz;ikahd Nghl;biw Cf;Ftpf;fpwJ 
2) nghUSf;fhd fjit nefpo;jftw;wJ 
3) cw;gj;jp mjpfhpg;gjhy; nghUl;fspd; jahhpg;G kw;Wk; gfph;Tr; nryTfs; rhpAk; 
4) kpf cah;e;j tpiy mq;fhbapy; Nghl;bahsh;fs; Eioitg; gpd;dilar; 

nra;fpwJ. 

40. Your department is made up of people who are very different in their lifestyles and their 
stages of life. Saira is a 23-year-old single parent who is working for minimum wage. Amit 
is 60 years old, extremely wealthy and works because he enjoys it. Rahul is single, 45 
years old and has few interests outside the office. You have decided to attempt to apply 
Maslow's hierarchy of needs to motivate each of these individuals.  
You would expect that Saira is trying to satisfy which need? 
1) Esteem  2) Safety 
3)  self-actualization 4) Physiological 

cq;fs; Jiwapy; cs;s kdpjh;fs; ntt;NtW tho;f;ifKiwfisAk;> tho;tpd; 
ntt;NtW fl;lq;fspy; cs;sth;fshfTk; ,Uf;fpd;wdh;.  rha;uh vd;Dk; 23 taJ 
xw;iwg; ngw;Nwhh;> Fiwe;j $ypf;Fg; gzp nra;fpwhh;.  mkpj; mWgJ tajhdth;> 
gzf;fhuh;> gzpiar; re;Njh~j;jpw;fhfr; nra;fpwhh;.  uhFy; 45 tajhd jdpahs; 
mYtyfj;Jf;F ntspapy; rpy Mh;tuhl;lq;fisf; nfhz;bUg;gth;.  xt;nthU 
jdpegiuAk; Cf;Ftpf;Fk; ce;Jjy; Fwpj;j kh];Nyhtpd; gbepiykj; Njitfisg; 
ghprPypf;f Ntz;Lk; vd;W ePq;fs; KbT nra;J tpl;Bh;fs;.  ePq;fs; rha;;uh ve;jj; 
Njitia epiwT nra;tjw;fhfg; gzp nra;fpwhh; vd;W vjph;ghh;f;fpwPh;fs; 

1) Rakjpg;G  2) ghJfhg;G 
3) Ra epiwT 4) clypay; mbkl;lj; Njitfs; 

41. If a hard-working athlete or student with modest abilities consistently outperformed a 
more gifted, but lazy rival, this indicates that 
1) if either ability or motivation is inadequate, performance will be negatively affected 
2) if both ability and motivation are inadequate, performance will be negatively affected 
3) if either ability or motivation is inadequate, performance will be positively affected  
4) if both ability and motivation are inadequate, performance will be positively affected 

fbdkhf ciof;Fk; tpisahl;L tPuh; my;yJ khzth; msthd Mw;wy;fisf; 
nfhz;lth; epiyahfg; gapw;rp nra;J> xU mjpff; nfhilAila Mdhy; 
Nrhk;Ngwpahd vjpuhspia ntd;W tpLtJ vijf; fhl;LfpwJ vd;why; 

1) Mw;wNyh my;yJ ce;JjNyh NghJkhdjhf ,y;yhj NghJ> nray; jd;ik 
vjph;epiyapy; ghjpf;fg;gLk; 

2) Mw;wYk;> Cf;Ftpj;jYk; ,uz;LNk gw;whf;Fwahf ,Uf;Fk;NghJ.  nray; 
jd;ik vjph;epiyapy; ghjpf;fg;gLk; 

3) Mw;wNyh my;yJ ce;JjNyh NghJkhdjhf ,y;yhj NghJ nray;jd;ik 
Neh;epiyapy; ghjpf;fg;gLk; 

4) Mw;wYk;> Cf;Ftpj;jYk; ,uz;Lk; Nghjpa mstpy; ,Uf;Fk;NghJ> 
nray;jd;ik Neh;epiyapy; ghjpf;fg;gLk; 
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42. Assertion (A). A manager delegates authority. 
Reason (R). Manager wants to shirk his responsibility. 

1) Both (A) and (R) are true and (R) is correct explanation of A 

2) Both (A) and (R) are true but (R) is not a correct explanation of A 

3)  A is true but R is false 

4) A is false but R is true 

cWjpthf;fpak; (A)  xU Nkyhsh; mjpfhuj;ijg; gfph;e;jspj;J nray;gLj;Jfpwhh; 

fhuzk;   (R)  Nkyhsh; jdJ nghWg;igj; jl;bf;fopf;f tpUk;Gfpwhh; 

1) A, R ,uz;Lk; nka; R,A Tf;fhd rhpahd tpsf;fk; 

2) A, R ,uz;Lk; nka; Mdhy; R,A Tf;fhd rhpahd tpsf;fkd;W 

3) A nka; Mdhy; R nka;ad;W 

4) A nka;ad;W Mdhy; R nka; 

43. ‘Job Rotation’ means. 

1) Redesigning jobs of workers 

2) Assigning additional activities to workers 

3) Moving workers from one job to other  

4) None of above 

gzpr; Rw;W vd;gJ 

1) Copah;fsJ gzpfis khw;wp tbtikj;jy; 

2) Copah;fSf;Ff; $Ljy; nray;ghLfis xJf;Fjy; 

3) Copah;fis xU gzpapypUe;J kw;nwhU gzpf;F efh;j;Jjy; 

4) Nkw;nrhd;d vJTkd;W 
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44. Arrange the steps of Performance development process steps in the correct sequence 

from the first to the last. Select the  code of the correct sequence : 

a) Learning Internalization and Application 
b) Personal Learning Plan 
c)  Personal Development Plan 
d) Performance Appraisal 

Codes : 
1) d), c), b), a) 2) a), b), c), d)  
3) d), b), c), a) 4) d), a), c), b) 

nray;ghl;L Kd;Ndw;w eilKiwapd; gbfis xd;W Kjy; ,Wjp tiu 
rPuikf;fTk; gpd;dh; rhpahd thpir 

a) cs;spay; fw;wy; kw;Wk; gad;nfhs;sy; 
b) nrhe;j fw;wy; jpl;lk; 
c) nrhe;j Kd;Ndw;wj;jpl;lk; 
d) nray;ghl;L kjpg;gPl;L myF 

FwpaPLfs; 

1) d), c), b), a) 2) a), b), c), d) 
3) d), b), c), a) 4) d), a), c), b) 

45. The two dominant aspects of industrial relation scene in the modern industrial society 
are covered in which one of the following? 
1) Conflict and conciliation 
2) Cooperation and conciliation 
3) Conflict and cooperation 
4) Cooperation and codetermination 

,uz;L NkNyhq;F njhopy; cwT fhl;rpg; ghpkhzq;fs; cs;s edtPdj; njhopy; 
r%fj;jpy; fPo;f;fz;l ve;j xd;W MFk;? 

1) neUf;fb kw;Wk; gpzf;if KbTf;Ff; nfhz;L tUjy; 
2) $l;LwT kw;Wk; gpzf;if KbTf;Ff; nfhz;L tUjy; 
3) neUf;fb kw;Wk; $l;LwT 
4) $l;LwT kw;Wk; $l;Lj; jPh;khdk; 

46. Market values are often used in computing the weighted average cost of capital 
because 
1) this is the simplest way to do the calculation. 
2) this is consistent with the goal of maximizing shareholder value. 
3) this is required in the U.S. by the Securities and Exchange Commission.  
4) this is a very common mistake. 

KjyPl;bd; ruhrhp tpiy kjpg;ig;f; fzpdpg;gLj;Jk;NghJ mq;fhb kjpg;Gfs; 
mbf;fb gad;gLj;jg;gLfpwJ Vnddpy; 

1) mJjhd; fzf;fpLtjw;F chpa kfpTk; vspikahd top MFk; 
2) gq;Fjhuh; kjpg;ig mjpfhpf;Fk; ,yf;Fk; ,J epiyjfT cilaJ 
3) ,J U.S. – ,d; ghJfhtyh;fs; kw;Wk; ghpth;j;jid FOtpw;Fj; 

Njitg;gLfpwJ 
4) ,J xU nghJthd jtW 
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47. The appropriate method to derive the growth rate according to Dividend- Growth 
Model for equity valuation is 
1) Growth rate of sales over a period of time 
2) Plough-back ratio multiplied with return-on-equity 
3) Plough-back ratio multiplied with net profit margin 
4) Growth rate of fixed assets over a period of time 

<l;banjhif tsh;r;rp <ftpl;b kjpg;gPl;L khlypd;gb tsh;r;rp tpfpjj;ijf; 
fzf;fpLtjw;F Vw;w Kiw 

1) xU Fwpg;gpl;l fhyfl;l mstpyhd tpw;gid tsh;r;rp tpfpjk; 
2) yhgj;ij kW KjyPL nra;jy; tpfpjg; ngUf;fYld; <f;tpb kPjhd tUtha; 

3) yhgj;ij kW KjyPL nra;jy; tpfpjg; ngUf;fj;Jld; nkhj;j ,yhg khh;[pd; 
ngUf;fk; 

4) epiyj;j nrhj;Jf;fspy; Fwpg;gpl;l fhy mstpyhd tsh;r;rp tpfpjk; 

48. The —————— is the specific mix of advertising, personal selling, sales promotion, 
public relations, and direct marketing tools that the company uses to pursue its 
advertising and marketing objectives. 
1) Value mix 
2) Integrated dealer mix 
3) Marketing communications mix  
4) Marketing control mix 

—————— vd;gJ tpsk;guk;> jdpahs; tpw;gid> tpw;gid Nkk;ghL > nghJ 
ey;YwT> Neub mq;fhbf; fUtpfs; Mfpatw;wpd; $l;lhf> epWtdj;jhy; mjd; 
tpsk;gug;gLj;jy; kw;Wk; mq;fhbg;gLj;jy; Nehf;fq;fSf;Fg; gad;gLj;jg;gLjfpwJ 

1) kjpg;G $l;L 

2) xUq;fpize;j tpw;gidahsh; $l;L 
3) mq;fhbg;gLj;Jk; njhlh;gpay; $l;L 

4) mq;fhbf; fl;Lg;ghl;L $l;L 

49. Micro environment factors are considered to be – 
1) Close to the company 2) Not close to the company 
3) Both 1) and 2)  4) None of the above 

Ez; R+oypay; Mf;ff; $Wfs; ,q;qdk; fUjg;gLfpd;wd 

1) epWtdj;Jld; mZf;fkhdJ 2) epWtdj;Jld; mZf;fkw;wJ 

3) Nkw;$wpa ,uz;Lk; 4) Nkw;$wpa vJTk; md;W 
50. Roy and his friends go out every weekend and drink until they get drunk. Then they 

drive home in that condition.  Which type of consumption does this represent? 

1) injurious consumption 2) severe consumption 

3)  conspicuous consumption 4) unethical consumption 

uhAk; mtDk; ez;gh;fSk; xt;nthU thu ,WjpapYk; ntspapy; nrd;W> Ntz;ba 
kl;Lk; Fbj;Jtpl;L tUthh;fs;.  me;jr; R+oypy; tPl;Lf;F tz;bia Xl;bf; nfhz;L 
tUth;.  ,J vt;tif Efh;T tifiag; gpujpepjpj;Jtg;gLj;JfpwJ. 

1) jPik gaf;Fk; Efh;T 2) gtj;j Efh;T 

3) Gyd; Efh;T 4) mwnewprhuh Efh;T 
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51. Average stock level can be calculated as 
1) Minimum stock level + 1/2 of Re-order level 
2) Maximum stock level + 1/2 of Re-order level 
3) Minimum stock level + 1/3 of Re-order level  
4) Maximum stock level + 1/3 of Re-order level 

ruhrhp ifapUg;G msT ,q;qdk; fzf;fplg;gLfpwJ 

1) Fiwe;jgl;r ifapUg;G msT  + ½ kW thpir msT 
2) mjpfgl;f ifapUg;G msT   + ½ kW thpir msT 
3) Fiwe;j ifapUg;G msT  + 1/3 kW thpir msT 
4) mjpfgl;r ifapUg;G msT  + 1/3 kWthpir msT 

52. P-D-C-A stands for 
1) Plan-Do-Check-Act 2) Plan-Do-Correct-Act 
3) Proceed-Do-Check-Act  4) Proceed-Do-Correct-Act 

P-D-C-A ,jidf; Fwpf;fpwJ 

1) Plan – Do – Check – Act 2) Plan – Do – Correct – Act 
3) Proceed – Do – Check – Act 4) Proceed – Do – Correct – Act 

53. ISO emphasizes on 
1) Prevention  2) Inspection 
3) Rejection   4) Acceptance 

ISO typAWj;JtJ 

1) jLg;G  2) Nrhjid nra;jy; 
3) epuhfhpj;jy; 4) Vw;Wf; nfhs;Sjy; 

54. If  = 0.05 and  = 0.10, the power of that hypothesis test is 

1) 0.15   2) 0.90 
3) 0.85   4) 0.95 

 = 0.05  = 0.10 vd;why; me;j fUJNfhs; Nrhjidapd; Mw;wy; ,J 

1) 0.15   2) 0.90 
3) 0.85   4) 0.95 

55. By taking a level of significance of 5% it is the same as saying 
1) We are 5% confident the results have not occurred by chance 
2) We are 95% confident that the results have not occurred by chance 
3) We are 95% confident that the results have occurred by chance  
4) We are 98% confident that the results have not occurred by chance 

FwpaPl;L msT 5% vd;W nfhz;lhy;> mJ ,q;qdk; $Wtjw;F xg;ghdJ MFk; 

1) Ma;T KbTfs; jw;nrayhf Neh;e;jd my;y vd;gjpy; ehq;fs; 5% tpOf;fhL 
cWjpahf cs;Nshk; 

2) Ma;T KbTfs; jw;nray; epfo;ty;y vd;gjpy; ehq;fs; 95% cWjpahf 
cs;Nshk; 

3) Ma;T KbTfs; jw;nray; epfo;T vd;W ehq;fs;; 95% cWjpahf cs;Nshk; 
4) Ma;T KbTfs; jw;nray; epfo;ty;y vd;gjpy; ehq;fs; 98% cWjpahf 

cs;Nshk; 
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56. From the following statements, identify the correct answer: 
Statement I: The chi-square and ‘t’ distributions are always symmetrical distributions. 

Statement II: If we have large enough sample sizes, the assumption that “the samples 

are drawn from a normal population” can be discarded with ANOVA testing. 

1) Both the Statements I and II are correct. 

2) Statement I is correct, but Statement II is wrong. 

3) Statement II is correct, but Statement I is wrong.  

4) Both the Statements I and II are wrong. 

fPo;fz;l  thf;fpaq;fspy;  rhpahd  tpiliaf;  fz;Lgpb 

cWjpthf;fpak; I: ir- nfhah;>  gfph;jy;   Mfpad vg;NghJk; nrQ;rPuhd 
    nrt;nthOq;F gfph;Tfs; 

thf;fpak;  II:  ehk; nghpa  khjphp msitf; nfhz;bUe;jhy;  khjphpfs;  
,ay;ghd kf;fs; njhifapypUe;J Njh;e;njLf;fg;gl;lJ vd;Dk;  
fUJNfhs; mNdhth    Njh;tpd;  %yk;  js;sg;gLfpwJ  

1) I kw;Wk; II Mfpa  ,uz;L thf;fpaq;fSk;  rhpahdit 

2) thf;fpak; I rhp> Mdhy;  thf;fpak; II jtW 

3) thf;fpak;  II  rhp> Mdhy;  thf;fpak; I jtW 

4) thf;fpak; I kw;Wk; II  Mfpa ,uz;Lk; jtW 

57. Strategic management allows an organization to be more 

1) complacent 

2) proactive 

3) authoritarian 

4) reactive 

nrayhf;fj;Jf;Fk;  gad;gLfpw eph;thftpay; xU epWtdj;ij kpfTk; 

1) kpif kdepiwTilajhf Mf;FfpwJ 

2) nraiyj; jhNd  epfor; nra;J #oiyf; fl;Lf;Fs;  itj;jy; 

3) mjpfhuk;  kpf;fjhf Mf;FfpwJ 

4) vjph;r;nraypdjhf  Mf;FfpwJ 

58. The emergent approach to strategy entails: 

1) largely sequential development of strategy analysis and development 
2) an interrelated development of strategy analysis and development 
3) an unrelated development of strategy analysis and development 
4) both the first and third answer above 

ntspg;gLk;  mZFKiw  nrt;nthOq;if ,d;wpaikahjJ Mf;FfpwJ. 

1) nghpJk; Kiwg;gLj;jg;gl;l Kd;Ndw;wr; nray;jpl;lg; gFg;gha;T kw;Wk; 
Kd;Ndw;wk; 

2) njhlh;Gila Kd;Ndw;w nray;jpl;lg; gFg;gha;T kw;Wk; Kd;Ndw;wk; 

3) njhlh;G ,y;yhj nray;jpl;lg; gFg;gha;T kw;Wk; Kd;Ndw;wk; 

4) Nkw;nrhd;d Kjy; kw;Wk; %d;whtJ tpilfs; 
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59. Match the following 

 Theories of entrepreneurship Elements 

 a) Process theory i) Employment 

 b) Disposition theory ii) Dynamic 

 c) Economic theory iii)  Demand and supply direction 

 d) Cultural theory iv) Development 

  a b  c d 

1) i) iii) iv) ii) 

2) iii) iv) ii) i) 

3) iv) ii) iii) i) 

4) i) iv) ii) iii) 

nghUj;Jf 

 Ranjhopy; Kidg;Gf; nfhs;iffs; $Wfs; 

a) nray;Kiwf; nfhs;if i) gzptha;g;G 

b) ,aw;gz;Gf; nfhs;if ii) ,af;fk; 

c) nghUshjhuf; nfhs;if iii) Njit kw;Wk; tpepNahfj; jpir 

d) gz;ghl;Lf; nfhs;if  iv) Kd;Ndw;wk; 

  a b c d 

1) i) iii) iv) ii) 

2) iii) iv) ii) i) 

3) iv) ii) iii) i) 

4) i) iv) ii) iii) 
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60. Match the following 

   Concepts  Features 
a) Financial plan i) Financial statement 
b) Marketing  ii)  Marketing strategy and resources 
c) Development and production iii)  Quality assurance 
d) Objectives  iv)  Long term 

 a b c d 

1) i) iii) iv) ii)  
2) iii) iv) ii) i)  
3) i) iii) ii) iv) 
4) i) iv) ii) iii) 
nghUj;Jf 

 fUj;jhf;fq;fs;  jd;ikf;$Wfs; 
a) epjpj;jpl;lk; i) epjp mwpf;if 
b) mq;fhbg;gLj;jy; ii) mq;fhbg;gLj;Jk; nray; jpl;lk; kw;Wk; 

 %yts Mjhuq;fs; 
c) Kd;Ndw;wk; kw;Wk; cw;gj;jp iii) ju cWjpg;ghL 
d) Nehf;fq;fs; iv) ePz;l fhymsT 

 a b c d 

1) i) iii) iv) ii)  
2) iii) iv) ii) i)  
3) i) iii) ii) iv) 
4) i) iv) ii) iii) 

61. Match the following 
  Effects of capital gearing during Features 
  trade cycles 

a) Inflation  i) Cost increase 
b) Deflation  ii) Low of income of business  
c) Cost of capital iii) High capital gearing 
d) No financial management iv) Rate of interest 

 a b c d 
1) i) iii) iv) ii) 
2) iii) iv) ii) i) 
3) i) ii) iv) iii)  
4) i) iv) ii) iii) 
nghUj;Jf 

 tzpfr; Row;rpapy; %yjdj;ij $Wfs; 
 Vw;Gilajhf;Ftjpy; 
 Vw;gLk;; tpisTfs; 
a) gztPf;fk;  i) nryT mjpfhpg;G 
b) kdr; Nrhh;TWjy; ii) tpahghu tUtha; FiwT 
c) KjyPl;L nryT iii) cahpa KjyPl;L Vw;Gilj;jd;ik 
d) epjp eph;thfkpd;ik iv) tl;btpfpjk; 

 a b c d 
1) i) iii) iv) ii) 
2) iii) iv) ii) i) 
3) i) ii) iv) iii)  
4) i) iv) ii) iii) 
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62. Match the following 

  Environmental issue Features 
a) Depletion of minerals i) Zincs exhaustion   
b) Depletion of species ii) Catastrophic  
c) Nuclear wastes iii) Animal species  
d) Solid waste  iv) Toxic substances 
Codes 
 a b c d 
1) i) iii) iv) ii) 
2) iii) iv) ii) i) 
3) i) iii) ii) iv) 
4) iii) ii) iv) i) 

nghUj;Jf 

 R+oypay; rpf;fy;fs;  $Wfs; 
a) fdpk tsq;Fd;Wjy; i) rpq;f; kiwT 
b) caphpfs; Fd;Wjy; ii) Nfl;lh];l; Nuhgpf; 
c) mZtpay; fopTfs; iii) tpyq;Faphpfs; 
d) jplf;fopT  iv) jPtpidg; nghUz;ikfs; 
 a b c d 
1) i) iii) iv) ii) 
2) iii) iv) ii) i) 
3) i) iii) ii) iv) 
4) iii) ii) iv) i) 

63. Match the following 

   Items of reasoning Features  
a) Employee counseling i) Advice 
b) Suggestion schemes ii) Awards 
c) Recognition iii) Performance based incentives 
d) Joint consultation iv) Decision making 
Codes 
 a b c d 
1) i) iv) ii) iii) 
2) i) ii) iv) iii) 
3) i) iii) ii) iv) 
4) i) iii) iv) ii) 

nghUj;Jf 

 gFj;Jzuj; jf;fd $Wfs; 
a) Copah; MNuhrid toq;fy; i) mwpTiu 
b) ghpe;Jiu jpl;lq;fs; ii) tpUJfs; 
c) mq;fPfhuk;  iii) nray;jwd; rhh; 
d) $l;Lf;fye;jhly; iv) KbTvLj;jy; 

FwpaPLfs; 

 a b c d 
1) i) iv) ii) iii) 
2) i) ii) iv) iii) 
3) i) iii) ii) iv) 
4) i) iii) iv) ii) 
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64. Assertion (A) : Job analysis information provides the foundations of an organizations  
 human resource information system. 

 Reason (R) : The Job analysis information can be collected through interviews, juries of 
experts, mail questionnaires, employee logs, direct observation or some 
combination of these techniques. 

1) Assertion (A) and Reason (R) both are true 
2) Assertion (A) and Reason (R) both are untrue 
3) Assertion (A) is true, but Reason (R) both are untrue  
4) Assertion (A) is untrue, but Reason (R) is true 

cWjpthf;fpak; (A) epWtd kdpj %ytsj; jfty; mikg;Gf;Fg; gzpg; 
gFg;gha;Tj; jfty; mbj;jsk; mikf;fpwJ 

fhuzk; (R)  gzpg; gFg;gha;Tj; jfty;fis Neh;fhzy;> epGzh;fsJ 
fUj;Jf;fs; G+h;t vOj;Jtbtg; gjpTfs;> Neub cw;WNehf;fy; 
(m) ,t;Tj;jpfspd; fyg;Gfspd; %yk; Nrfhpf;fyhk;. 

1) cWjpthf;fpak; (A) kw;Wk; fhuzk; (R) ,uz;Lk; nka; 
2) cWjpthf;fpak; (A) kw;Wk; fhuzk; (R) ,uz;Lk; nka; md;W 
3) cWjpthf;fpak; (A) nka; Mdhy; fhuzk; (R) nka; md;W 
4) cWjpthf;fpak; (A) nka; md;W Mdhy; fhuzk; (R) nka; 

65. Job analysis is a systematic procedure for securing and reporting information defining a 
1) Specific Product 2) Specific Job 
3) Specific Service 4) Specific Goods 

gzpg;gFg;gha;T vd;W xU Kiwrhh;e;j eilKiwahf ,J Fwpj;j tiuaiwia 
cUthf;fty;y jftiyg; ngwTk;. mwptpf;fTk; cjTfpwJ 

1) Fwpg;gpl;l nghUs; 2) Fwpg;gpl;l gzp 
3) Fwpg;gpl;l Nrit 4) Fwpg;gpl;l nghUl;fs; 

66. This insurance scheme provides adequate insurance coverage of employees for 
expenses related to hospitalization due to illness, disease or injury or pregnancy 
1) Employee referral scheme 
2) Medi-claim insurance scheme 
3) Maternity and adoption leave 
4) All of the above 

fUTw;wpUj;jy;> fhakiljy;> Neha;> cly; eyf;FiwghL Mfpatw;Wf;fhd 
kUj;Jtr; nryTj; njhifia Copah;fSf;F toq;fg; NghJkhd fhg;gPl;Lf; 
ftNui[f; nfhz;lbUf;Fk; MAs; fhg;gPl;Lj; jpl;lk; 
1) Copah; Fwpg;gPl;L jpl;lk; 
2) nkbfpisak; fhg;gPl;Lj; jpl;lk; 
3) Foe;ijg; NgW kw;Wk; jj;njLg;G tpLg;G 
4) Nkw;$wpa midj;Jk; 

67. Training involves 
1) Evaluating the effectiveness of training programmes 
2) Developing suitable training programmes 
3) Identification of training needs of the individuals and the company  
4) All of the above 

gapw;rp Kiwfs; 
1) gapw;rpj; jpl;lq;fspd; tpisTfis kjpg;gPL nra;jy; 
2) jf;f gapw;rpj; jpl;lq;fis cUthf;Fjy; 
3) epWtdk; kw;Wk; jdpegh;fsJ gapw;rpj; Njitfis ,dk;fhZjy; 
4) Nkw;$wpa ahTk; 
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68. Which of the following strategies is usually followed by BB2  companies with respect 
to promotion strategy?  

1) Push strategy  

2) Pull strategy 

3) Blocking strategy   

4) Integrated strategy 

fPo;fhZk;  ve;j nray;jpl;lk; BB2  epWtdq;fsJ Kd;Ndw;wr; nray; jpl;lkhfg; 

gpd;gw;wg;gLfpwJ? 

1) js;S  nray;jpl;lk;  

2) ,O nray;jpl;lk; 

3) jilg;gLj;J nray; jpl;lk;  

4) xUq;fpize;j  nray;jpl;lk; 

69. Statement I: Fixed exchange rate system is disadvantageous. 

 Statement II: The government can alter the exchange rates. 

1) Statement I is correct, but statement II is incorrect. 

2) Statement I is incorrect, but statement II is correct. 

3) Statement I and statement II both are correct.  

4) Statement I and statement II both are incorrect. 

thf;fpak; - I – itg;Gg;  ghpthh;j;jid tpfpj mikg;G  jPq;fhdJ 

thf;fpak; II – muR ghpth;j;jid tpfpjq;fis khw;w KbAk; 

1) thf;fpak;  I rhp Mdhy; thf;fpak; II rhpahdjd;W 

2) thf;fpak;  I rhpahdjd;W Mdhy; thf;fpak; II rhp 

3) thf;fpak;  I  kw;Wk; II Mfpa  ,uz;LNk rhp 

4) thf;fpak;  I kw;Wk; II Mfpa  ,uz;LNk rhpahdjd;W 
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70. Under the Walter Model, if the rate of return is greater than the cost of capital: 
1) Price per share does not vary with the increase or decrease in dividend pay-out ratio 

2) Price per share increases as the dividend pay-out ratio increases 

3) Price per share increases as the dividend pay-out ratio decreases 

4) None of the above 

thy;lh; khlypd;fPo;  KjyPl;L kjpg;ig tplj; jpUk;gg; ngWk;  tpfpjk;  mjpkhf  
,Ue;jhy; 

1) xt;nthU gq;fpw;Fkhd  tpiy> <Tj;njhif  toq;Fk; tpfpjk;  
mjpfhp;j;;jhYk;  my;yJ Fiwe;jhYk;  khWgLtJ ,y;iy 

2) <Tj;njhif toq;Fk; tpfpjk;  mjpfhpj;jhy; mjw;F Vw;g xt;nthU gq;fpd;  
tpiyAk;  mjpfhpf;Fk; 

3) <Tj;njhif  toq;Fk; tpfpjk; Fiwe;jhy; xt;nthU gq;fpd; tpiyAk; 
mjpfhpf;Fk; 

4) Nkw;nrhd;d  vJkd;W 

71. Lintner Model shows that the current dividend depends 

1) partly on current earnings and partly on the previous year’s dividend 

2) partly on market rate of return and partly on the expected rate of return 

3) partly on current earnings and partly on the expected rate of return 

4) partly on previous year’s dividend and partly on the market rate of return 

ypd;l;dh;  khly; ,g;Nghija  <Tj;njhif  rhh;e;jpUg;gijf; fhl;LfpwJ 

1) ,g;Nghija tUkhdj;jpd; kPJ ghjpAk;  nrd;w tUl <Tj;njhifapd; kpJ 
ghjpAkhf  mikfpwJ 

2) mq;fhbj; jpUk;gg; ngWk; tpfpjj;jpd;  kPJ ghjpAk; vjph;ghh;j;jj; jpUk;gg; 
ngWk; tpfpjj;jpd;  kPJ ghpjpAkhf mikfpwJ 

3) ,g;Nghija tUkhdj;jpd; kPJ ghjpAk; kPjp ghjp vjph;ghh;j;j mstpyhd  
jpUk;gg;ngWk;  tpfpjj;jpd;  kPJ ghjpAk;  Mf mikfpwJ 

4) fle;j tUl  <Tj;njhifapd; kPJ ghjpAk;  kw;Wk;  mq;fhbj; jpUk;gg; 
ngWk;  tpfpjj;jpd  kPJ  ghjpAk;  Mf  mikfpwJ 

72. The firm’s average rate of return is 15%, its cost of capital is 10% and earnings per 
share is Rs.10. If the pay-out ratio is 40%, 60% and 90%, the value of share according 
to Gordon’s model will be 

1) Rs.105, Rs.100 and Rs.90 respectively 

2) Rs.130, Rs.120 and Rs.105 respectively 

3) Rs. 400, Rs.150 and Rs.105.88 respectively  

4) Rs. 440, Rs.160 and Rs.120 respectively 

epWtdj;jpd  ruhrhpj;jpUk;gg; ngWk; tpfpjk; 15% mjd; %yjd kjpg;gPL 10% 
mjd;  tUtha;  xU  gq;Ff;F  &gha;  10.  mth;fsJ <Tj;njhif toq;F 
tpfpjk;  40% 60% kw;Wk;  90% vd;why;  Nfhh;lhd khlypd;gb gq;Fr; re;ijapd; 
kjpg;G ahJ. 

1) &. 105> &. 100 kw;Wk; 90 MFk; 

2) &. 130 &. 120 kw;Wk; &.105 MFk; 

3) &. 400 &.150 kw;Wk; &. 105.88 MFk; 

4) &. 440 &. 160 kw;Wk;  120 MFk; 
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73. Which is not an Indian multinational company? 
1) Unilever  2) Wipro 

3) Asian paints  4) Piramal 

ve;j xd;W  ,e;jpa gd;dhl;L epWtdk; md;W 

1) A+dpyPth;  2) tpg;Nuh 

3) Vrpad ngapz;l;]; 4) gpuky; 

74. Alexander of Leighton enumerative five major determinants of morale, they are 

a) Confidence of the individual members in the purpose of the group 

 b) Confidence of the different member of the group in the leadership and the ability of 
the leadership. 

 c) Confidence of the individual members in their fallen worker 

 d) Organisational efficiency 

 e) Conditions in the group and working conditions 

1) a), b), c), d) and e) 

2) b), c), d) and e) 

3) a), b), c) and d) 

4) b) and c) 

mnyf;rhz;lh; Mg; nya;l;ld;  kdepiyiaj; jPhkhdpf;Fk;  Ie;J  Kf;fpa  
thpirj;  njhFjpapy; cs;sit. 

a) FOtpd;  Nehf;fj;jpd; kPJ xt;nthU cWg;gpdUf;Fk;  cs;s  ek;gpf;if 

b) FOj; jiyik kPJk;  jiyikapd;  nray; jpwd; kPJk;  FOtpd;  
ntt;NtW  cWg;gpdh;fs; nfhz;bUf;Fk;  ek;gpf;if 

c) FOtpd;  jdpegh;fs; jq;fsJ tPo;e;Jgl;l gzpahsh;  kPJ  nfhz;Ls;s 
ek;gpf;if 

d) epWtdr;  nray;jpwd; 

e) FOtpw;Fs; epyTk; #o;epiyia kw;Wk;  gzpahw;Wk;  #o;epiy 

1) a), b), c), d) kw;Wk;  e) 

2) b), c), d) kw;Wk; e) 

3) a), b), c) kw;Wk;  d) 

4) b) kw;Wk; c) 

75. An appeal is the ––––––––– of an advertisement. 

1) Theme  2) Image 

3) Color   4) Information 

KiwaPL vd;gJ –––––––––  MFk; 

1) ikaf;fU  2) gbkk; 

3) epwk;   4) jfty; 

————————
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